
 

 

 
Pennant RESULTS 
 
 
Round Results will carry the following points: 
 
(a) A team win will result in the winning team being awarded one (1)  contest. 
 
(b) A draw between two teams (i.e 2 ½ or 3 ½ matches each) will result in each team being 
awarded half (0.5) of a contest. 
 
(c) An individual win or walkover will result in the winning team being awarded one (1) match. 
 
(d) An individual match which is square at the 18th hole shall be scored as a draw (sq) and each 
team awarded half (0.5) of a match. 
 
 
Ladders will be calculated in the following manner: 
 
(a) Teams will be positioned on their respective Ladder by Total Contests. 
 
(b) Total Matches will be used to determine the position of teams tied on Total Contests. 
 
(c) If Total Contests and Total Matches are tied, holes are then used to determine a team’s 
position on the ladder.  
 
 
Holes are awarded as follows: 
 
For an individual match all square - nil  
 
For a match ending on the 18th, i.e. 1 or 2 up a team gets +1 holes (-1 for the defeated players side) 
 
For a match ending on the 17th, i.e. 2/1 or 3/1 a team gets +2 holes (-2 for the defeated side) 
 
For a match ending on the 16th i.e. 3/2 a team gets +3 holes (-3 for the defeated side) 
 
For a match ending on the 13th, i.e. 6/5 a team gets +6 holes (-6 for the defeated side) 
 
The concept of rewarding a team for the margin of their defeat of the opposing side was introduced 
to help decide count back situations whereby teams may be tied on matches and individual games 
won. However to prevent the situation whereby a player may have already lost the game but needed 
to finish the hole to determine whether the game was lost say 2/1 or 3/1, it was determined, to 
maintain the ethics of the game, that for the purpose of determining count backs, that the hole on 
which the match finished, rather than the match result, would determine what has become known as 
the “holes”. Hence a match finishing on the 18th or beyond is awarded 1 hole, a game finishing on 
the 17th is awarded 2 holes etc so a match result of 10/8 is awarded 9 holes, 6/4 is awarded 5 holes. 


